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Instructions : (1) Right digits indicate marks of the questions.

28]

(2) Write answer to the points.

(a) Duties of an auditor in respect of share issue at discount,
OR
Distinguish : Interim Dividend and Final Dividend.

(b) Write : (any two)
(1) Interest paid out of capital
(2) Share forfeiture
(3)  An audit of underwriting commission
(4) Duties of an auditor in respect of prospectus.

(c) Give your opinion as an auditor (any three) _
(1) Time to write off advertisement campaign expenses.

[Max. Marks : 70

(2) Company cangive how much percentages of underwriting commission on

equity share ?

(3) Where mention (shows) unpaid dividend in annual accounts ?

(4)  Revenue stamp is required on which amount voucher ?

(a) Difference between Clean Report and Qualified Report.
‘ OR
Meaning of the phrase “True and Fair View”,

(b) Write (any one)
(1) Social Audit
(2) = Types of Audit Reports
(3) _Audit Certificate
(4) Importance of Auditor’s Report.
{(€) Give your opinion as an auditor (any three).

(1) Auditor has not mention “True and Fair” words in his report.

(2)  Auditor has not signed in Audit Report.
(3)  Auditor address his certificate to Central Government.
- (4)  Board of Directors not clarify to an auditor about doubt.
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Ascertain the profit available for the year 20132014 from the following details of

Varu lelted
Year Profit/Loss before Depreciation | Unabsorbed
depreciation required by law | depreciation
T 4 L4
2011-12 - 3,60,000 1,80,000 1,35.000
2012-13 - 1,80,000 1,35,000 45,000
2013-14 +9,00,000 2,70,000 -
OR .

Debatable points regarding divisible profits. Discuss any one.

Write : (any two)
(1) Importance of correct computation of profit,
(2) Difference between Net Profit and Divisible Profit.

(3) Capital

Gain (Profit)

State true or false : (any three)

(1) Profit means excess of assets over liabilities ?

(2)  An-auditor is not responsible to check that the dividend is declared out of

capital profit or revenue profit.

(3) Providing depreciation on fixed assets is voluntary.

(4) By showing less profit *Secret Reserve” is created.

What is investigation ? What peint would you consider while investigation ?

What points should you consider while preparing an audit programme ?

OR

Investigation in casé of considerable fluctuations in profits.

OR

Prepare Audit Programme of Educational Institute.

State true or false : (any three)

(1) . Investigation is compulsory for each company.

mstltutlon in the context of an audlt program.

should be checked.

nnnnn

(2) . Only Chartered Accountant can do the investigation.
(3) The Auditor should examine the constitution and the 1egulatmns of the

" '(21) Before prepanng audit” programme’ competltﬁr firm accountmg information

7



5. Select correct answer from multiple choice question : (any seven) 14
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3)

4

(5)
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Minimum time lag required between two bonus issue is
(a) 12 months (b) 36 months
(¢) 24 months (d) None of the above

If the auditor has ;:,Wen a qualified report the followmg consequences anay

result

(a) The Board of Directors have to resign

(b) The Central Govémment-may impose a fine on shareholders of the
company.

(c) The Auditor has to resign

(d) The Board of Directors have to give reply to such qualifications in his
Board Report.

Which of the following is not a guiding principle in computing divisible profit ?

(a)  The generally accepted principle of Accountancy should be followed.

(b)  The provisions of the Companies Act must be strictly complied with

(c) The Regulation of the Memorandum-and Article of Association must be
complied with.

(d)  The reputation of the company miust be maintained by any means.

The following information is regarding profit and loss of the Vagh Company Ltd. :

Year Profit or Loss | Depreciation | Unabsorbed
before required by law | depreciation
depréciation : 4 4
(4
2011-12 — 56,000 28,000 21,000
2012-13 -28.000 21,000 7,000
2013-14 + 1.,40,000 42,000 -
Determine ifs divisible proﬁt-for the year 2013-14 :
(a) . T90,000 ; (b) ¥ 70,000
(¢) ¥.50,000 - (d) 49,000

Which one of the following examination is requued to be made in case of

misappropriation of cash receipts ? . '

(a) Examination of the d1v1dend declared by the ‘company during the last few
year

(b)  Verification of entries made in the stock reg%ter

(c) Management'’s Cledlt worthless and reputatlon in the market should be
examined.

(d) Through verification of transactions relating to cash sales,

7 - PT.O.



(6)

(7)

Which one of the following points is not relevant in relation to preparation of
“Audit Programme” of a branch of a Commercial Bank ?

(a) An auditor should be acquinted with the provisions of various Acts
- applicable to banks.
(b)  An auditor should examine whether there is in existence a good internal
check system. -
(¢)  When loans are given on the security of bank’s own fixed deposits.
(d) An auditor of a Nationalised bank should see that his appointmént is

approved by the Central Government or not.

After the end of financial year, within how much time, Final Accourits of a
company should be presented in annual general meeting ?

(a) Three months

(b) Six months

(c) Atany time before the end of next financial year
- (d) None of the above

8)

©)

(10)
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Which of the following difference between Auditor’s Report and Auditor’s
Certificate is correct ?

(a) There are provisions for both in Companies Act..

(b) Certificate is not addressed to anybody, but Auditor’s Report is addressed to
shareholders.

(c) Both are to be given every year

(d)  Auditor’s report is presented to Central Government, while Audit certificate

is presented to shareholders.

Following informations-are regarding Profit & Loss Account of a Hathi company :

Year Profit or Loss Depreciation Depreciation | Unabsorbed
before required as per | actually depreciation
depreciation Company Act | provided 4
T ' T 4
2011-12 - 30,000 15,000 3,750 11,250
2012-13 —-15,000 11,250 7,500 3,750
2013-14 +75,000 22,500 22,500 -
Determine its divisible'profit for the year 2013-14 ?
(a) 75,000 (b) 26,250
() T50,000 (d) 37,500

Which one of the folflewing points is not relevant in relation to investigation when
there is considetabledircrease in gross profit inspite of steady sales figure ?

(a) Examinations of reasons for increase in the percentage of goods.
(b) Increase in the price of raw materials.

(¢) Closing stock might have been overvalued.

(d) The purchases are omitted from being recorded in the books.




